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No.3: OCamlO0OOCOOOODCOOOOOODOO
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OCaml OO OOOODOO
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C, Java, Scheme, OCaml, Haskell etc.
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0000200000000 3000 1000000000000 f.
let is_even n =

nmod 2 = 0
let rec f n =

if n =1 then 1
else if is_even n then £ (n / 2)
else f (n x 3 + 1)

Collatz Problem (00000): 0000000 xO00O0000 f(x)00
00000 (000 1000)0

0000 (DO0OO0 o0Oo00) OopDoooooo

OCaml DO ODOOODOO

f0O0O00O0O0O0OO0O000O0OooOmoOCOOO0OoOooDoboboOoOn
gooo

let rec g n k =

if k <= 0 then n
else if n = 1 then 1
else if is_even n then g (n / 2) (k — 1)
else g (n *+ 3 + 1) (k — 1)
let £ n =g n 100
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mO kOO m-100000000100000000000D00O0DO
oooo h:

let rec h m k =
if k >= m then false
else if m mod k = 0 then true
else hm (k + 1)

00000 hm2000000

mO 200 kOOOOOOODO10000000000DO0ODODOO
ood h:

let rec h/ m k =
if k <= 1 then false
else if m mod k = 0 then true
else h' m (k — 1)

00000 K m(m1) 000000
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goodaao
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0000 (scope):

let x = 10 in
(let x = 20 in
x + 10)
¥ (x + 3)5;

(+* OO x O 20 %)
(x OO0 x 0O 3 %)

let x = 10 in
let f vy =y + x in
fx ;; (« OO x O 10 =)
ooooo
e JOUOOUIOUIODODOOO
e UOUOOOOOO

e 00D0O0D0DOOD (nest)
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cooooooooo: "
Oel000D00XxOD00O0OXxOODODDOOOOOODO (binding)OOO

int z; 00 @Ded0d0O0O0O0O0O0O0OOLODODOOODOODOLOUOOOOeOOO
int foo (int x, int all) { oooooooo
int i;
 /xzx,a,i 0000 */ 00 xO0O0O0O0OD0O0000O0000O000oo00oo(oouoo)oo
{ int y; gooooooogao
float x; DDXDDDD/DD goooooood
. . (let x = 10 in
. /* z,a,i,y,x 0000O0x O OO0 x */ (let f x = x + 3 in
} f x) + x)
. /* z,x,a,i OOO0O =/ +x
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oodaoobbggoad 000000000000 000 (OCamlO)

UO0D expr 00000000 noooonooonoon
let rec eval e env =

e ::=1i | ete | x| let x = e in e match e with
| CstI i — 1

O:1let x =1+ 2 in x + x | Var x — lookup env x

type expr - | Let(x, erhs, ebody)

| CstI of int — let xval = eval erhs env in

, , let envl = (x, xval) :: env in
| Prim of string * expr % expr eval ebody envl
) v v
| Var of string (x OO =x) Cmm Y
| Let of string % expr % expr (+ OOO0D0 x) | Prim("+", el, e2) — (eval el env) + (eval e2 env)

| _ — failwith "unknown expression"

O: Let("x",CstI(10),Prim("+",Var("x"),CstI(20))) OO0 ew D 000000

OO0D0O0OCaml O let x=10 in x+200 000000

EEEENGCEEEEEEEED) EEEEEEELE SEEENGCEEEIEEEEE)) EEEEEEELE




O00000000O0opDooodo (coo)

Oe000 e000000 (evaluate) DOO0ODO [e] DOODODOOODO

[Csti()],
[Var(x)], = lookup(e, x)
[Let(x,el,e2)], = [e2].,
where € = [(x, [e1],.)] @ ¢
[Prim(" +",el,e2)], = [el]. + [e2].

=i

O000lookup(e,x) 000 e 000000 xODODOODDODOOODODOODO
[1e[20000 10 [200000000000000

0000 (OO0 o0oDbOoO0O0) oooooooo

oooo1(ooo0)

000000 (environment)O O OO0

000 (@O000)I[ 1]
0oo0o00

[("X",lO)] @ [("y",QO); ("X",BO)]
-> [("X",lO); ("y",QO); ("X",SO)]

00000000000 (lookup)

lookup([("x",lO); ("y",QO); ("X",BO)], an)
-> 10 (o OOoood)

doooooooooooon

0000 (oooOoO ooooo) 0ooooooon

oooo2(@on)

O Prim(" 4+ ", Cstl(20), Cst/(10)) DO O OO OO
(0000 10 +200000)

[Prim(" +", Cstl(20), Cst/(10))]; ; = [Cstl(20)]; | + [Cst/(10)];;
=20 + [Cst/(10)]
=20 + 10
=30

0000 (DO0DO0 o0Oo00) OopDoooooo

O Let("x", Cstl(20), Var("x")) 0000000

[Let("x", Cstl(20), Var("x"))]; ; = [Var("x" ]I[(”x”,|[(:stl(20)]|[ el

= [Var("x"
= [Var("x"
= lookup(][
=20

Tiexe 20y @ 17

AN ~— N~ ~—

li¢x 20]
"x",20)],"x")

0000 (0000 oOoooo) oooooooo




oooo3(ooon)

O Let("y", Cstl(10), Let("x", Cst/(20), Var("y"))) 000000 O

[Let("y", CstI(10), Let("x", Cstl(20), Var("y" )]
= [Let("x", Cstl(20), Var("y" )iy 10))
= [Var("y" )i 200 @ [y 10)]

= [Var("y" )]][("x" ,20);("y",10)]
=10

0000 (OO0 o0oDbOoO0O0) oooooooo

00004 (@0O0)

O Let("y", Cstl(10), Let(" x", Cstl(20), Prim(" +", Var("x"), Var("y"))))
ooooooo

[Let("y", Cstl(10), Let("x", Cstl(20), Prim(" +", Var("x"), Var("y" ) ;
= [Let("x", Cstl(20), Prim(" +", Var("x"), Var(" y" )¢y 10)]

— [Prim(” + 7, Var(' X" ), VarC'y Wl a0y 100

= [Var("X"Nierxr 20y v 20y + [VarCy" e 20y 20))

=20+10

=30

0000 (oooOoO ooooo)

godad

0ooooooon

oooos(oo0)

O Let("x", Prim(" +", Cstl(10), Cstl(20)), Var("x")) D 00000 O

[Let("x", Prim(" +", Cstl(10), Cstl(20)), Var("x"))];
= [Var("x" )]I[("x",|[Prim("+” Cstl(10),Cstl(20))] )]
= [Var("x" )]I[("x",10+20)]

= [Var("x" )]I[("x”,3o)]
=30

0000 (DO0DO0 o0Oo00)

OopDoooooo

dooooooooooon

Let("x", CstI(10),
Prim("+",Let("x",CstI(20),
Prim("+",Var("x"),Cst(30))),
Var("x")))

(0DD0OO0 let x=10 in (let x=20 in x + 30) + x 0 0O0O0O)
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0000 (OO0 oDboOoO0) oooooooo

micro ML O O O

micro ML O O
e MLO FAOOODODOOODODO
e JDDODOO (not0Oon)
e JUODOO (not0OTODO)

00 (first-order) vs OO (higher-order)
e JOU0O:D0DbO0ODLbDbODbOUODLDbDOODLDbDOOn
e J0D0D:00DDOOUO(DODULODOULDOOODOODDO)

0000 (oooOoO ooooo)

micoMLOOOOODOO

0ooooooon

type expr =

CstI of int | CstB of bool
Let of string * expr * expr
Prim of string x expr * expr
If of expr * expr *x expr
Letfun of string * string * expr *x expr
Call of expr * expr

| Var of string

OO0D00OCall(el,e2) D000 et O0Var sUOODOODOOODOOODO
(Coobobooooooooon)

CstB (true)

If(Prim("=",Var "x",CstI(20)),CstI(30),CstI (40))
. if x=20 then 30 else 40
Letfun("f", "x", Prim("+", Var ("x"),

Call(Var("f"), CstI(20)))
. let rec f x = x + 10 in f 20

CstI(10)),

0000 (DO0DO0 o0Oo00)

OopDoooooo

microML

Prim("+", Var("z"),
OCaml

z + 8

CstI(8))

microML
Letfun ("£", "x",
Prim("+",Var ("x"),CstI (7)),
Call (Var ("f"),CstI(2)))
OCaml
let rec f x = x + 7 in f 2

micro ML OO Letfun 00000000 (OCaml O let rec)d

0000 (0000 oOoooo) oooooooo




oodoooooogn goooobd

O:
let x = 10 in
let £f v = x + vy in
let x = 20 in
£ 30

OO0:fOOO xO 10000 200000
e OO0 (lexical, static binding)
e 0000 (dynamic binding)

obobOooOooDooo0tfDhy »>x+yd0OOOOODOODOODOO
ool

0000 (OO0 oDboOoO0) oooooooo

micoMLO OO (0O 0O)

0000000(@O0O00): 00000000 o0oooooooo
let x = 10 in

let f v = x + y in
let x = 20 in
£ 30

oo00fOOoOoOoDoDOoOoOooooo

Closure("£f", "y", Prim("+",Var("x"),Var("y")),

(10)) 1)

Ubobdfy=x+yQoooooooooooo
f0O0000D0Ox=10000000000000DO0O0O

[ (x,Int

0000 (oooOoO ooooo)

microMLO OO (DO 0O)

0ooooooon

[e]l. 00 e000e00O0O0O0DOOODOO:

(0ooo)
[Csti()], = -
[Var(x)], = ...
[Let(x,el,e2)], = ...
[Prim(" +",el,e2)], = ...
(ooo)

[CstB(b)], = b
[/f(e0, el, e2)], = [el], where [e0], = true
[/f(e0, el,e2)], = [e2], where [e0], = false

0000 (DO0DO0 o0Oo00)

OopDoooooo

(0oo)

[Letfun(" f","x", el, e2)], = [€2].,
where € = [("f", Closure(" f"," x", el,€))] @ €
[Cali(" ", e0)], = [el]..
where lookup(e,” f") = Closure(" f"," x", el,€')
v = [e0],
¢ =[("x",v)] @¢

" 0000000000000 e0DDOO
O0e00JO0O0UO0e0O0O (OOUOOOvOOO)
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ogooobboogoaad goooobbooogoon

let x = 10 in

let £ v = x + vy in
let x = 20 in
£ 30

UbOd £ 30000000000 envl

[("x",20);
x",10) ]

envl 0000OO (F30) 0000

f 000 envi OOODODO
gbsoboobooog

y O 300000000 [("x",10)]1000
f 000bOoogogog

g w NN =

0000 (OO0 o0oDbOoO0O0) oooooooo

0000000000 (OCamiO)

("f",Closure("f","y",Prim(..),

[("x",10)1)) ;

("

let x = 10 in let £ v = x + y in

let x = 30 in let g z = x + z + (f z) in

let x = 40 in £ (g 100)

env0 = [("x",10)]

envl = [("x",30; ("f",Closure("£f","y",...,env0))] @ env0
env2 = [("x",40; ("g",Closure("g","z",...,envl))] @ envl
oOooo:

(£100) 00000 env2 0000

e g 000 x+z+f(z) DO D DOOO (z=100;envl) D OO DO

o fO0IDO x+yOODOODODO (y=100env0) D OO0

o f00D x+yDDODDO (y=240;env0) 00 DD (00 O 250)

0000 (oooOoO ooooo) 0ooooooo

00000000000l (Doboooooon)

let rec eval e env =
match e with
| CstI i — i

| Letfun(f, x, fBody, letBody) —
let bodyEnv = (f, Closure(f, x,
in eval letBody bodyEnv

fBody,

oboobooooboobooooobobobo

0000 (DO0DO0 o0Oo00)

OopDoooooo

env) )

Lo env

0000000000 (OCamiO)

O000000000Oo2 (Doooooon)

| Call(Var f, eArg) —
let fClosure = lookup env f in
match fClosure with
| Closure (f,x,fBody, fDeclEnv) —
let xVal = Int(eval eArg env) in
let fBodyEnv = (x,xVal):: (f,fClosure):
eval fBody fBodyEnv

:fDeclEnv in

0000 (0000 oOoooo) oooooooo
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let x = 10 in
let f v = x + vy in
let x = 20 in

£ 30

uobooobobooitibx+y D000 xOO040o0oOoooboaoobog
O000000000O0x=200000(0000000000 50)

0000 (OO0 o0oDbOoO0O0)

gad
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o I0:0000DOO0DODODODODOODODOO
e I00O0O:00D0OO0DODLOODOO
e I0ODOO:00DLOO0ODODOODOO

0000 (DO0DO0 o0Oo00) OopDoooooo

0000000 microMLOOO (DOO)

00000 (00)oo0oUooOoooooUoo

[Call("f", e0)], = [el]..
where lookup(e,” f") = Closure("
v = [e0],
€ =[("x",v)] @e

0000000000 000000 e0000000

non o n /
X" el e)

1. 0000000 0000000000D000O00DOO 00000
20000000 00000000000 000 e0DOD0O(UOODO

O0o000o0ooooooon)
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